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ROC roc(Y ~X, data, ci)
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roc(Y ~X, data, ci)
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plot(ROC, identity, print.thres,
main = “ROC” , xlab =" 1-%RE” , ylab=" BRE" )
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plot(ROC, identity, print.thres,
main = “ROC” , xlab =" 1-$5EE” , ylab=" RE" , legacy.axes = TRUE )
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library(tidyverse)

library(tableone)

df <- read_csv("R_book data.csv")

g_dist_3g <- ggplot(data = df, aes(x = factor(Treatment_3cat) + geom_boxplot(),
y=L0S))

g_dist_3g
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library(tidyverse)
library(tableone)
df <- read_csv("R_book data.csv")
g_dist_3g <-ggplot(data = df,
aes(x = factor(Treatment_3cat),
y=L0S))+
geom_boxplot()
g_dist_3g




pairwise.prop.test(table(x, y), p.adjust.method)

X 1 (REETVVWATIU-—EH)
y B2 (BREDBRDOEDTEE)
p.adjust.method “ponferroni” %EISRE

pairwise.prop.test(table(x, y), p.adjust.method)

X B 1 (REDBRDED TEH)
y B2 (REETVZVATIU—EH)

p.adjust.method “bonferroni” ZEIEE




